Self Locking Hex
Flomge Nuts - M8

P/N:200298
S.S. Plain Washer 'Db-Killer N.66
28 X D24 Co0d.3015300801
P/N:200321 Ne)

N
LV LV-12 |€49| 00007G -

'Db-Killer N.67
Cod.3015300802

E49) 92rR-02 0001

LV-12 silencer -

S.S. BLACK EDITION]| Hex Socket Button Head
L370 @i.75 RHS Cap Screw Méx14
P/N:3015307485 P/N:204643

S.S. Plain Washer

Mé.4 x 14

P/N:205833

Gaskets 14 x 5,9x 1,5
P/N:206367 (2pcs)

Pipe Clamp
P/N:300051530

2i.75

Alu Spacer ) DO NOT USE
@27 @8.5n11 7 _7ongmo| bushing
P/N:204321 /

Socket Allen Cap /J

Screw M8x50 i

P/N:200461

Short Spring w/Rubber kit

P/N:303949001

Pipe N°1436 S/S
P/N:3015307201

Spring Holder
is hidden by the bracket

Gaskets 14 x4,9x 1,5

P/N:200371 (2pcs)

U-Type Metal Clip S.S. Plain Washer
Self-Tapping Screw Retainer M5 M5x 15
P/N:204555 P/N:406580
Hex Socket Button Head
Cap Screw M5x12
P/N:201031

ART. 15307B

Carbon Heat Shield
P/N:0815307001

HONDA NT 1100
(fits with original panniers, fits with original center stand)

SLIP-ON LV-12 S.S. BLACK EDITION



	DT-15307B
	Drawing View5
	Drawing View6


